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Lena
MTA2/2. Artefacts are not disturbing the rating process. 




Lena
MTA0/1. The parahippocampal gyri are not atrophied. The sulci are closed. 
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Lena
MTA3/2. A septum on the left side. Cut it in your mind and the hippocampus will be released.




Lena
MTA1/0-1. Both are normal.




Lena
MTA1/1




Lena
MTA0/0




Lena
MTA3/3. The widening of the ventricles are pronounced and sometimes the distinction between widening of ventricles and hydrocephalus of other reasons is difficult. In this case the entorhinal cortex and parahippocampal gyri are atrophied as well which makes atrophy as a cause more likely. 




Lena
MTA1/1




Lena
MTA2-3 /2. Here it is difficult to rate. You need to have several images in a row, but even then it is difficult. The hippocampi are atrophic but there is no passage of cerebrospinal fluid around the hippocampi in this image. 




Lena
MTA2/2




Lena
MTA1/1. Note the small cyst in the right hippocampus. 




Lena
MTA2/2.The left MTA is turning into MTA3.




Lena
MTA2/2. Here you need to have surrounding images to be sure of the grading. Right side might turn into MTA3. 




Lena
MTA1/3. On the right side MTA is turning into MTA2 and on the left side MTA just passed from MTA2 into MTA3. 




Lena
MTA2/2. On the right side the image is too far behind the rating point. Left is optimal here. 




Lena
MTA0 right and MTA0-1 on the left side. 




Lena
MTA1/1




Lena
MTA2/2
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Lena
MTA4/ 3-4. This image is noisy and it’s difficult to distinguish the entorhinal cortex from the hippocampi and parahippocampal gyri.




Lena
MTA4/4.The right side is more atrophic than the left side.


